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(@) Define Operation Management. Explain the Scope of O.M. in industries
(b) Define the following terms. (Any Three)
(1) Bottle neck

(2) Degeneracy

(3) Buffer stock

(4) Lead Time (5) EOQ (6) Optimum Feasible Solution
(@) Solve following Linear Programming Problem using Graphical Method,;
Maximize X1 + 3
Subject to: 4x1 + 2% 8
X1 3
X2 7
where X1, Xe 0
(b) Solve following Linear Programming Problem using Simplex Method;
Maximize = 12x1 + 152 + 14 X3
Subject to: -X1 + X <0
-X1 + 23 <0
X1 +X2 + X3 <100
where X1, X2, X3 >0
OR
(b) Solve the following linear programming problem;
Maximize = 44X + X 3Xs + b5xa
Subject to: 6x2 - 5X3 - 4xs = -20
2Xo + 4x3 + Xq < 10
X2 + 3x3 + 2Xa < 20
where X1, X2, X3, X4

(@) Write Difference between Transportation and Transhipment problem.
(b) Consider the following transportation problem involving three sources and four
destination. The cell entries represents the cost of transportation per unit.

Destination Supply
Source 3 1 7 4 300
2 6 5 9 400
8 3 3 2 500
demand 250 350 400 200 1200
Obtain the initial feasible solution using following method,
Q) Least cost cell method.

(IT)Vogel’s approximation method (VAM) method.
OR
(@) A company has a team of four salesmen and there are four districts where the

company wants to start its business. After taking into account the capabilities
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of salesmen and the nature of districts, the company estimates that the profit
per day in rupees for each salesmen in each district is as follows:

Districts
Salesmen 18 12 16 13
16 13 17 17
17 17 15 14
15 14 16 17

Find the assignment of salesmen to various districts which will yield the
maximum profit.

A department has four employees with four jobs to be performed. The time (in
hours) each men take to perform each job is given in the effectiveness matrix:

Employees
Jobs 20 28 19 13
15 30 16 28
40 21 20 17
21 28 26 12

How should the job be allocated, one per employee, so as to minimize the total
man hours?

A truck owner finds from his past records that the maintenance costs per year
of a truck whose purchase price is Rs. 6000 are given as :
Year 1 2 3 4 5 6 7 8
Maintenance 1000 | 1200 | 1400 | 1800 | 2300 | 2800 | 3400 | 4000
cost
Resale price 3000 | 1500 | 750 | 375 |[200 |200 |200 |200
Determine at which time it is profitable to replace the truck.
There are six jobs, each of which has to go through the Machine 1 and 2 in
order M1M2. Processing time in hours are given as follows:

Job 1 2 3 4 5 6
Machine 1 1 5 8 7 3 3
Machine 2 5 6 5 2 2 10
Determine a Sequence of these jobs that will minimize the total elapsed time.
OR

Write complete method to solve “Replacement Problem” for Machine
Deteriorates Gradually.
Describe the various assumptions for Sequencing Problem.

Define Optimization. Explain the need for Optimization in industry.
Define E.O.Q. and enlist assumptions for Uniform Demand.
OR
Define synchronous manufacturing and explain Hockey-stick phenomena.
List various Cost Control Methods. Why cost control is necessary in industry ?
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